=LPDB

*UXSD 5RINiDG $.67/ /

7\J

7N\J

3RGVIDZ\ NRPXQINDFIL
LQIHUSHUVRQDIQHI GU OLN(HZVND

7N\J

OHIRG\ XFTHQID VIC L VIXGIRZDQID Z
GU*XGD IRHID $.6/ =

7N\J

3RGVIDZ\ VRFIRIRJLL GU /HQIN
6IDQLViDZ $.6/ z

3RGVIDZ\ SVA\FKRIRJL GU
KDE 1DSRUD ((TELHID

7\6]

> SIQHVIND  $.67 - w1/ = 3/ = 335/ = \NiDG Z IRUPIH JGDIQH $.6/ =
= = \NiDG Z IRUPLH TGDIQHI = 38:7" - 36/
8 = 363" 7\ 36< =% 7\6]
- - 75/ - ’
= 7N . " - 3RGVIDZ\ NRPXQINDFIL
Q 3RGVIDZ\ IIRTRIL Z GU KDE SIRI I\ IDICFD  PLQ =\NiDG Z ngfieG\DXf]LRHCﬂV%VLCLs\g\xg”jZDQlD z LQIHUSHUWRQDIQHI GU OLNIHZVND
= WQHI - - SIQHVIND  $.6/ -
S QDG]Z 7DUQRSRIVN $QGUIHI  $.6 / IRVPLH ]GD 3/ & _
n B N = \NiDG GID JUXS\ & 3HGDJRJIND L =DICFID Z IRPLH 1GDIQHI
Ny OHl 6 = i
\NDG Z IRUPLH JCDIQH 3RGVIDZ\ SVFKRIRJL = G KDE f;JéS\_g{NdfeglRU,;\Lﬂ]GgogﬁD
1DSRID (TEHD ~ $.6/ - -
Z\NiDG Z IRUPLH JGDIQHI
7N 7N 7N 7N
3RGVIDZ\ NRPXQINDFIL 3RGVIDZ\ VRFRRJL GZ PJU 3RGVIDZ\ IIRJRIL GZ GUKDE SIRI ZHFKQINL SUDF\ XP\ViRZHI GZ Gl
LQIHUSHWRQDIQHI GU OINIHZVND 3DUDGRZVNL 5DIDi =% QDG]Z 7DUQRSRIVNL $QGUIHI =% OWNHZVND $IQHVIND =%
SIQHVIND =% $.6/ & .20387(52:% $.6/ & 5.6/ & $.6/ -
7N 7N 7\6]
2FKIRQD ZADVQRGFL LQIHHNIXDIQH! PJU 3RGVIDZ\ VRFIRRJL PJU 3DUDGRZVNL ~RGZIDGFHQIH VSRHFIQH GU ZHQIN
= UyEH) -XVINQD =% $.6/ SDIDi =% $.6/ = 6IDQVADZ = $.6/ &
> &
T 7N 7\6]
x ZHFKQINL SUDF\ XP\ViRZHI GZ Gl 3RGVIDZ\ VRARRIL GZ =%
N OWNHZVND $IQHVIND =% .20387(52:$% $.6/ =
$.6/ =
7\6]
3RGVIDZ\ SYWFKRIRJIL PJU . IHIEVND
XD =% $.6/ &
7
THFKQINL SUDF\ XP\ViRZHI GZ Gl
OWNHZVND $IQHVIND =%
$.6/ &
7N 7\6] 7\6] 7\6]
~RGZIDGF]HQIH VSRHFTQH GU ZHQIN ZHFKQINL SUDF\ XP\ViRZHI GZ Gl 3RGVIDZ\ VRAIRRJL GZ PJU 2FKURQD ZiDVQRGFL LQIHIHNIXDIQHI PJU
6IDQVADZ =% $.6/ & OINHZVND $IQHVIND = $.6 3DUDGRZVNL 5DIDi = $.6/ = UyEH) -XVINQD =
/= & .20387(52:% $.6/ =
g 7N
x = RGZIDGFIHQIH VSREHFTQH GU ZHQIN N
2 6IDQVIDZ =% $.6/ & ZHFKQRIRJLD LQIRUPDF\IQD (DE  GU
BRINVIDN = [RIHID = $.6/
7 /
3RGVIDZ\ SYWFKRRJL PJU . IHIEVND
XD =% $.6/ &
—_
o3
7N
% $.6/ -

=DICFID ] = \FKRZDQLD ILJ\F]JQHJR UHDUJXIH GIXGXP = \FKRZDQLD )LJ\FJQHJR RG SRQIHG]LDINX GR SLaliNX ]1D SRPRFg LQG\ZIGXDIQ\FK ]DSLVyZ SRGJIaG VDH $&6

6R




=LPDB
*UXSD 5RINiDG $.67 /  7\J




